45 2159 do] | 45+ A&
(1) 21.98 cm 7cm
(2) 37.68 cm 12cm
(3)31.4cm 10 cm
(4) 12.56 cm 4cm
(5) 18.84 cm 6 cm
@ 3.141 @ 3.1416 ® 3.142

@®)3.14 ® 3.1

21.98 + 7, 37.68 + 12, 31.4 + 10,
12,56 + 4, 18.84 + 6
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(45)=(A&)x3.14
16 x 3.14 = 50.24( cm)
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9] 477} 50.24cm ), o] W] WAF] Lolg FahA L,

(BH25) = (25F) +3.14 + 2
=50.24 +3.14 + 2 = 8(cm)
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® A& 4cm

@ A& 2.5cm

® A& 6cm

@ A& 2.3cm

® A& 12.56 + 3.14 = 4(cm)
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0.8 % 3.14 x 8 = 20.096( m)
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2P E 5 2Reng, 294 59 Zolo 5 w7t Hyrt
w2hA 1x3.14 x5 = 15.7(m) Ytk
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10. =FA 7tet o] g0 @
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A7}
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> HEH 94.2cm

7Hu=15

T} =30 - 15 = 15(cm)

Y+t =25

U =25-15=10(cm)

7F=15-10 = 5(cm)

(=9 AAo =)

= (5x3.14) + (10 x 3.14) + (15 x 3.14)
=15.7+31.4+47.1

= 94.2( cm)




